Time: 50 Min.

Note: Show all work.

*Department of Mathematical Sciences, KFUPM
MATH 101-051 Points: /50

Section: 4, 8, 12, 17 Serial #:

Solution No Calculator is allowed.

Ewvaluate the limits in Questions 1-5
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lim (300-500x" ~20x" - 70x*) (4 pts)
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6. Let f(f)=

. Using the concept of limit, find (6 pts)

\J'I -1
(a) all horizontal asymptotes (if any)
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(b) all vertical asymptotes (if any)
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4
7. Use the (&,0) definition of limit to show that H{Sx#?) =4, (5 pts)

Wi el Do b T o any €725 3 57 sl Ht

|éa;+;)Fq>( C € %; e<|x-col £ S
(e (3?{+3[é & F'F o<f+i| < S

Now,
; [@xﬁ)-—f}l = 3] = vleell L35 (e pucs)

w‘j 53-35;5'!*%?’5:% 5 w.f/&{éwr

br €50, 3550 sul Al [fxad)- L€ i o Lxnlcs.
7'7:-‘-] 5'44%.%2/ 4{'**1 (h-f-?):(é“

>3-l 8 if x=1

8. dx? —4

Find all the points where the function f(x)= P acpaz3

12 ifT x=3
is not continuous in the interval [1,3]. (6 pts)
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Looking at the given graph of f(x), answer the following questions: (6 pts)
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f(x)is Not Left Continuous at the point(s) x= =12, 2 , ?

f(x)is Not Right Continuous at the point(s)x = -2, — ;_-
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f(x)is Not Continuous at the point(s) x = —|2 , — ; 5 9 : ?_




